81
‘ . S ek : ' : '
B 18 F  /h BIR B E S )R dSE. BHAKR & P :
il
: 1
/i A 8 el 9 10 - S I i 12 B
1
(#) (1) _ |y 1) (=) (=) 1) (=) (4) (=) : '
B = A4aB iy A | R AL i Sk %“j‘.i“ﬂéﬁ B FAE il ' & M i ks VAT S U it
% | % % % % | % % | % % | % | % % | % % % % o 3
2 ] 0.63 ‘h 32.99 ‘ 33.62 0.89 31.12 38.61 1.11 44.74 1.33 | 47.51 | 48.84 1-51 | 43.41 44.92 1.89 38.21 40.16 M
EE 0.65| 22,15 22 80 0.86 | 26,18 97,04 1.22 | - 80.85 1.60 34.66 | 36.26 | 1.61 34.00 35.70 2.00 30.57 32.57 )
- ‘ ! =
# e 0.25| 3493| 35.18 0.34 | 89.95| 40,29 0.34 |  43.45 0.98 44,69 45,67 0.73| - 41.32 42.05 0.72 34,72 35.44 g
_ag = 0.53( 2251 23.04 0.64 | 23.75| 29.39 0.60 | 3222 0.76 35.80 36.56 1.10| = 35.18 36,98 0,92 31.11 32.08 | 0
% i 0.2 | £0.85 21.07 0.27 | 2604 -96.81 0.48 |  31.89 0.62 35.52 36.14 0.84 | 3358 34.37 0.85 29,80 30.65 A
|k FH (.46 29.10 29,56 0.44 32,67 33.11 0.55 39.68 0,74 41,22 41,96 1.16 | 35,66 36,82 0.93 33,567 34,50 | L
ity B 0:20 23.85| 23.4 0.40 | 28148 28 88 0.59 | 84,93 0.71 37.76 33.47 0.76 36.59 37.35 1,57 30,64 32.21 3
. L ,J.
i B 0.26 31.24 31.50 0.36 34.66 35.01 0.73 42,46 0,76 14 84 45,60 0.87 40,54 41,41 0.70 35.94 36.64| u
1 = 5 0:77 |  28.94 29,71 0.98 35.96 |  26.94 1.45 | = 41,32 1.824 48,98 . 45,95 2,17 30,45 41.62 1.84 33.87 35.71 j
i #* 0.22  82.04 32.2 0.29 33.22 |  38.51 0.71 |  45.10 0.66 |  47.89 48.55 1.01 43.93 44,94 1,49 37.35 38,84 3
e 1% 0.66| 2804 3870 . 0.65| 38.93 39,58 = 0.74 | 46,51 0.87 50.06 50,93 0.93 47,14 48.07 1,21 40,90 42,11 %
i £ 0.87 | 41,27 | 43114 0.89 |  46.96 47,85 1.06 | 55.16 0.91 57.47 58.38 1.36 50.51 51.87 2,93 45.98 47.51 I
- : = I\‘I
T # '1.24 | 40.96 42,20 | 1.67 | 47.45 | 49.12 3.54| 52.28 3.14 52.73 55,87 3.12 48,56 51.68 3.68 | 45.08 48.76] &
b %t 1.20| 33.18 |  24.38 1.83| 42,69 | 44,52 2.16 53.51 2.02 56.93 £8.95 2,23 53.50 55.73 3.28 4892 51.50 |
o= M 0.60 | 58.68| 39.% 0.61 | 44,52 45.13 0.70  55.63 1.57 56,93 58. 50 1.59 54.40 55.99 2,44 48.47 50.91 E
7 i 0.19| 19.23 19,42 0.56| 23.17| 2848 0.50 | 30.58 0.60 55,68 36,28 0.57 33,92 33.79 0.91 28,17 2005 | b
s i 0,63 24.99| 2562 0.79 | 20.26| 31.06 0.76 - 38,10 0.84 45.29 46.13 0.83 39.81 40.64 1.07 36,22 37,20 0
| - "4
# i 0.92| 211 924.33 0.08| 30,12 30.20 0.45- 85,22 .35 36.44 36.79 0.47 36.00 36.47 0.89 30.47 3.36]
i g 0.34 | 28.3 28,67 0.61 | 3292 33.53 0.80 |  43.22 1,05 4424 45,99 1.92 38.98 40.20 2.43 34.01 36,44
1 £ 0.21| 38.42 33,63 0.25 | 40.29 40,64 0.66 | 44,78 0.84 47.22 48,06 1.07 45.72 46.79 1.78 43.31 45.09 =3
B i3 0.48 |  33.18 33.66 0,71 39,14 39,85 1.2 46.30 1.71 48.10 49,81 2.48 43,92 46,40 3311 - 39.30 42,61 '
i B 0.28 | 2857 28.8 0.28 | 32.56 52.84 [ 0.53 |  38.46 0.73 39.53 40,26 1.01 36.13 37.14 1.16 31.68 s2.84| M
‘- i
W il 0.16 | 48.26 48,42 0.21 | 54.84|  54.56 0.43 | 62,59 0.47 68.73 64.20 1.21 56,22 57.43 1.39 50.39 51.78 ]
| 1 0.33| 42336 |  42.69 0.45| 48,87 | 49.32 0.74 | 56.71 1.11 59.04 60.15 1.48 52.98 54.46 2.29 46.60 48.89). |
i= @ 0.46 | 39.13 |  39.5% 0.47 | 44.89 45.36 0.7 51.86 0.66 54,20 54.86 1.8 40,87 51.15 1.32 42,83 4415 A
% %R 0,60 | 42.83| 43.43 0.71|  50.%6 51.67 1.24 | 64,73 1.62 71.43 73.05 1.15 59.98 61,13 1.86 | . 48.41 50.27
e * 0.68| 20,64 30.32 0.90 | 36.37 87.27 1.43 | 42,99 1.59 53.94 55.53 2.18 | 50,14 52,82 3,32 44,11 | a7.48] O
% B 1.23| 35.69 36.92 1.83 |  41.86 43,69 2.04 | 5143 2,12 55.05 57.17 2.36F 50,18 52,54 3,03 45.06 48,12
R it 098 25.95| 26.93 1.28 | 31,34 32.62 1.47 | 8867 2.2 44.05 46.23 1.738| - 41.98 43,71 2.95 37.% 40.20 .
= B 2.03 |  35.82 87.90 | 2.0l | 3938 41,39 2.321  47.89 2,74 £0.05 52.79 2,62 45.04 47.66 3.56 42.21 45.77 |
oW 0.92 | 34.33 35.25 1,25 | 37.58 38.83 111 | 4804 1.92 4889 50.81 0.84 39.57 40.41 1.86 38,20 40.15 3
o I 0.75 |  27.48 28,23 0.66 | 25.53 36.19 0.97 |  88.15 1.22 39, 41 40,63 1,53 44.53 | 46.05 1.58 29,70 si.2s [
s 1
- ._‘l
5 0 0.44 | 23.29| 28.73 122| " sp10| 38,32 . 1.26| 8593 1.39 | 38,63 40,02 1.2 33,30 84.63 1,03 32,97 34,00 3
P i 0.56 | 35.00 35.86 0.99 | 40,07 41.06 1.02| 47.82 2.42 48,28 50.65 | 2.41 43.00 45.41 2.84 33,80 36.23 o
5 X 0.84| 30,69 381.53 3.95 ‘ 36, 44 39.69 1,57 | 39.19 1.53 44,91 4644 1.56 40.25 42.11 2.05 34,48 3668 |
ui A 0.26 |  30.71 30.97 0.28 |  35.97 36.25 0.55 | 42,45 0.89 45.41 46.30 0.96 41.63 42,59 1.8 36.24 37.59 i
i B L7zl 4311 44.83 1.89 | 42,69 44,58 3.00 | 4411 2.11 49,04 51.15 2.62 11.43 44,05 1.88 38.00 39.97
& i 0.12 | 35.46 35,58 0.28 | 40.81 41,09 0.98 | 48.67 0.25 48.78 49,03 0.90 45.51 | 46,41 1.27 40,92 42.19
o i 0.40 |  37.08 37.48 039 41.50 41.89 0.62 |  43.97 0.61 44,61 45.92 0,85 59.20 40,05 1.07 32.64 33.71
& i 0.44 | 41.% 41.69 1.18 ‘ 41,80 42.98 1.26 | 48.19 1.65 45.81 47.46 245 |  39.59 42,04 2.56 _32.26 34,82
W ] 0.61 | 27.89 28,50 0.99 | 27.44| 28.43 0.96 36.56 1.73 39,96 41.69 1.89 36,68 38.52 1.65 33.66 35,31
1 # 0.44| 80.91 | 3135 0.59 | 34,07 34.66 0.88 |  41.24 0.96 43.07 44,03 114 | 39061 40.75 1.64 40,00 41,64
B i 0.55 4186 42,41 1.12 | 43.56 44,68 1.25 \ 48.52 1.20 49.72 50,92 1.52 46.59 48,11 1.4 10,46 41600 8
1 # 0.4 32,9 32.69 0.57 | 35.03| 35.60 0.75 41,53 0.95 41.32 | 49,97 0.18 37.51 37.69 0.66 31.19 31.85 =
x Py 0:73 | 3851 39,24 0.76 | 42,44 4319 1.16 ‘ 46,13 1.04 48.01 49.05 | 1.40 43,60 45.00 1.45 35.54 36.99 b
= it 0.60 | 40.88 41,48 0.54 | 4379 44.83 0.79 | 45.40 0.86 46.78 47.64 | 1.30 42,95 44.25 1.07 39,70 40.77 :
B B 0.58 | - 44.66 45,24 0.57 | 40,93 41.50 0.75 | 50,81 1.13 51.67 52.80 | 1.16 | s 48,49 1.62 40.66 42,98 ;
| | .




